222, Math 101, Exam 1

. sinz(l —coszx
1. lim ( 5 ) =
=0 T
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(correct)

(a) 0
(b) 1
(c) -1
(d) oo

(e) —o0

2. One statement is true about

2+ —6
g(m)zw

(correct)

(a) lin% g(x) does not exist
T—

(b) z =2 is a vertical asymptote

(c) lim g(z) does not exist
—2+

(d) lim g(z) = lim g(z)
=2~ z—2+

(e) lim g(z) = —oo
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; . ae* 143, r<l
3. If the constant a will make the function f(z) = { tan~Y(z—1)+2, 2>1
continuous over (—oo, 00), then the value of a? + a equal

(a) 0
(b) 1
(c) -1

(correct)

1
4. The domain of f(z) = W, where [ | denotes the greatest integer function is
-z

(a) All real numbers except the integers

(correct)
(b) All real numbers except the positive integers

(c) All non-negative rational numbers
(d) Set of Natural numbers only

(e) All real numbers except zero
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1+cscx
. =
5 hm?r f‘f% =

(a) —4\/§ (correct)
(b) 2v/3

(c) —2v/3
(d) V3

(e) —mV/3

6. If f(z) = { Z(;Sf’b i ; g is differentiable everywhere, then b — a =

(correct)
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7. One statement is True about f(z) = |sinz| and g(z) = sin |z|

a) The domain of ¢'(z) is (—oo0, 00) — {0}

(correct)

(a)
(b) The range of g(z) is [0, 1]

(c) The domain of f(z) is [0, c0)

(d) The domain of f’ is all  # nm where n is positive integer
(e) The range of f(z) is (0, 1]

8. lim (4 - E) = 2 then the value of 4 such that
z—4 2

|f(z) — L| < € whenever 0 < |z — 4| < is

F
[
o

LU SN e N N N B T S W)
2

(correct)

]
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9. lim

cost —4sin3z —1 B

z—0 2z

(a) —6
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(correct)

(b) 0
(c) 6
(d) —4
(e) 4

(correct)
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11. Let f(z) = v/2z — 4, then }lzli% et h})l — /(@) =

1
——— (correct)
vz

1

12. The vertical asymptotes of the graph

In(z? — 4)
(z —1)(xz+4)

f(z) =

are

(a) =42, 2=—4 (correct)
(b) =21, 2—

(c)z=1,z=-4

(d)} 2=1

(e) z=42, z=4, =1
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13. lim (z® secmz) =
T3

(correct)

—~—

==
|
88

A~
(o] o

—
[
N
N == O

in 2
14. Let f(z) = is.:u;_:r’ which of the following is false?
sin‘ z

(a) The graph of f has vertical asymptote of z = 0 (correct)
(b) The graph of f has vertical asymptote of z = 7
(c) The graph of f has vertical asymptote of z = 27

(d) f is discontinuous at x = 0
(€) lim (z) =2
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15. If the line y = —4z + 1 is tangent to the graph of the function f(z) = k — 22,
then k =

(a) k=-3
(b) k=—4
(¢) k=4
(d) k=3
() k=

(correct)

g(z) +1
f(z)

16. Let p(z) = ,9(2) =-1, ¢'(2) =2, f(2) =3, then p'(2) =

)
[

(correct)

—~~ —~ —_
2 o8 g 2
Ol Ol W~ ©O Wl

—
@
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17. Let f(z) = %x sin(2z), then f’ (E) =

4
1
(a) 5 (correct)
1 =«
b3+
x
(c) 1
T 1
@7+3
I =
©3-1
CcoS T
1 . — ! —
8. f(z) = -, then f'(z)
|
(a') e (correct)
sinz
(b) (1 —sinz)?
—sinz
) e
1
(d) (1 —sinz)?
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